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問題１．次の文章を読んで、問１～４に答えなさい。（100 点） 

 

From chihuahuas to great Danes, dogs differ more in size than any other mammal species on the 

planet. A mutation behind such variation has been traced to an unexpected source: ancient ( 1 ). 

The mutation lies near a gene called IGF1, which researchers flagged 15 years ago as having a major 

role in the size variation of domestic dogs. It was the first of around two dozen such genes identified. But 

efforts to pinpoint the gene variant responsible had come up empty. 

“( 2 )IGF1 has been a thorn in our side,” says Elaine Ostrander, a geneticist at the US National Human 

Genome Research Institute in Bethesda, Maryland, who led the 2007 study that first identified IGF1’s 

role in dog size, as well as the 27 January study in Current Biology that now fulfils the quest. 

Ancient dogs, domesticated from wolves in the past 30,000 years, differed in size to some extent. 

But the current extreme size differences — the largest breeds are up to 40 times bigger than the smallest 

— emerged in the past 200 years, as humans established modern breeds. 

Ostrander and colleagues including geneticist Jocelyn Plassais at INSERM-University of Rennes, 

France, analyzed the genomes of more than 1,400 canids, including ancient dogs, wolves, coyotes and 

230 modern dog breeds. 

When they compared variation in the region around the IGF1 gene with body size in dogs and wild 

canids, one variant stood out. It lies in a stretch of DNA that encodes a molecule called a long non-coding 

RNA, which is involved in controlling levels of the IGF1 protein, a potent growth hormone. 

The researchers identified two versions, or alleles, of the variant. Across all breeds, dogs with two 

copies of one allele tended to weigh less than 15 kilograms, whereas two copies of the other version were 

more common in dogs weighing more than 25 kilograms. Dogs with one copy of each allele tended to be 

intermediate in size, says Ostrander. Canines with two copies of the large-bodied allele also had higher 

levels of the IGF1 protein in their blood, compared with those with two copies of the ‘small’ allele. 

When the researchers looked at the genomes of other canids, they found a similar relationship. “This 

wasn’t just a dog story. This was a wolf story and a fox story and a coyote story and everything story. It 

was canine-wide,” says Ostrander. 

The researchers think that the allele linked to small bodies is, evolutionarily, much older than the 

large-bodied version. Coyotes, jackals, foxes and most other canids they analyzed had two copies of the 

‘small’ version, suggesting that this version was present in a common ancestor of these animals. 

 

 

この部分に掲載されている文章に就いては、著作権法上の 

問題から掲載することができませんので、ご了承願います。 
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It’s not clear when the large-bodied allele evolved. The researchers found that an ancient wolf that 

lived in Siberia around 53,000 years ago carried one copy of this version. Other ancient wolves and 

modern grey wolves tend to have two, suggesting that the large-bodied allele might have been beneficial 

to wolves. 

The prevailing view among scientists used to be that small body size was probably linked to relatively 

new genetic changes, potentially unique to domestic dogs, says Robert Wayne, an evolutionary biologist 

at the University of California, Los Angeles. “( 3 )This turns the whole story on its head. That’s what’s 

marvelous about the whole thing.” 

The study could be a sign that dogs were domesticated from smaller-bodied wolves, dissimilar to 

present-day grey wolf populations, says Elinor Karlsson, a geneticist at the University of Massachusetts 

Chan Medical School in Worcester. “We don’t know what the wolves that led to dogs even looked like,” 

she says. 

Researchers also caution that the story of dog size is far from complete. Plassais wants to work out 

how the variants influence levels of the IGF1 protein. And the variant isn’t the only determinant of size 

in dogs: the IGF1 gene itself accounts for about 15% of variation between breeds. 

“We’re not talking about a mutation that makes a wolf chihuahua-sized,” says Karlsson. “We’re 

talking about one of many mutations that tends to make you a bit smaller.” 

 

出典：Nature. 2022 年 602 巻より一部改変 
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問１．（ １ ）に入る動物名を記載せよ。 

 

 

 

 

 

問２．下線部（ ２ ）の理由を述べよ。 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

問３．イヌの大きさを決定すると考えられるものの１つは何か。説明せよ。 
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問４．下線部（ ３ ）の理由を述べよ。 
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令和 4 年 8 月 3 日実施  

名古屋市立大学大学院医学研究科修士課程入学試験（1 回目） 英語（出題言語－日本語） 

 

問題２．次の文章は、英国の医学教育ガイドライン「Tomorrow’s doctor」（現在は改定）に

おける前文の一部である。文章を読んで、問１～４に答えなさい。（100 点） 

 

Doctors must be capable of regularly taking responsibility for difficult decisions in situations of clinical 

complexity and uncertainty.  

 

(1) Medical schools equip medical students with the scientific background and technical skills they need 

for practice. But, just as importantly, they must enable new graduates to both understand and commit to 

high personal and professional values. Medicine involves personal interaction with people, as well as the 

application of science and technical skills. 

 

In Good medical practice the GMC states: 

(2) ‘Good doctors make the care of their patients their first concern: they are competent, keep their 

knowledge and skills up to date, establish and maintain good relationships with patients and colleagues, 

are honest and trustworthy, and act with integrity and within the law. ’Putting patients first involves 

working with them as partners in their own care and making their safety paramount. It involves dedication 

to continuing improvement, both in the doctor’s individual practice and in the organisation and 

environment in which they work. It is not enough for a clinician to act as a practitioner in their own 

discipline. They must act as partners to their colleagues, accepting shared accountability for the service 

provided to patients. They are also expected to offer leadership, and to work with others to change systems 

when it is necessary for the benefit of patients. 

 

(3) In Tomorrow’s Doctors, we cover these themes under three headings, relating to the doctor as a 

scientist and a scholar, as a practitioner, and as a professional. These categories cover the development of 

the knowledge, skills and behaviour students must demonstrate by the time they graduate. However, the 

categories and the specific outcomes should not be considered in isolation from each other. Doctors need 

to link them routinely in clinical practice. 

 

Graduation is an early threshold in doctors’ careers. New graduates cannot be expected to have the clinical 

experience, specialist expertise or leadership skills of a consultant or GP. But they must be able to 

 

 

 

この部分に掲載されている文章に就いては、著作権法上の 

 問題から掲載することができませんので、ご了承願います。 
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問題１～５の中から３題を選択して答えなさい。選択した問題番号を以下に記載すること。 
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令和 4 年 8 月 3 日実施  

名古屋市立大学大学院医学研究科修士課程入学試験（1 回目）基礎科学（出題言語－日本語） 

 

問題１．以下の番号 1〜10 に示す細胞小器官の中から 4 つを選び、それぞれについて簡潔に説

明しなさい。（100 点） 

 

1. 細胞膜 2. 細胞質 3. 核 4. 小胞体  5. リボソーム 

6. ゴルジ装置 7. リソソーム 8. ミトコンドリア 9. 細胞骨格 10. 繊毛（線毛）

 

 

1)                                 
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3)                                 

 

 

 

 

 

 

 

 

 

 

4)                                 
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令和 4 年 8 月 3 日実施  

名古屋市立大学大学院医学研究科修士課程入学試験（1 回目）基礎科学（出題言語－日本語） 

 

問題２．以下の 5 つの用語から 3 つを選択して、それぞれ 100 字以内で説明しなさい。（100

点） 

 

減数分裂，DNA メチル化，ゲノムインプリンティング，新生変異，DNA マイクロアレイ解析 

 

1) _____________________________ 

 

 

 

 

 

 

 

 

 

 

 

 

2) _____________________________ 
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3) _____________________________ 
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令和 4 年 8 月 3 日実施  

名古屋市立大学大学院医学研究科修士課程入学試験（1 回目）基礎科学（出題言語－日本語） 

 

問題３．以下の A 夫と B 子の会話を読み、問１～２に答えなさい。（100 点） 

 

A 夫：「高校生の健康」というタイトルのレポートを書くために国の統計調査結果を調べてい

たら、(a)1980 年頃は男女とも喘息の被患率が 0.2%くらいだったのが、2010 年代には 2％前後く

らいになり、男子の方が数値が高めだってことがわかったよ。何が原因なんだろう。 

B 子：誰かが言ってたんだけど、あるグループが食事の中のアレルギーの原因物質を調べるた

めの調査をしたそうなの。喘息やアトピー性皮膚炎とか、アレルギー疾患の患者さん 100 人の

食事を飲み物も含めて３日分、朝、昼、夕と１食ごとに全部集めて、その中に含まれている化

学物質を分析したんだって。そうしたら、びっくりしたことに、(b)約７割の食事に「化合物 A」

が含まれていたそうよ。「化合物 A」がアレルギーの原因になっている証拠のひとつであると

そのウェブページには書いてあったけど、本当かしら。 

A 夫：それはとても大がかりな調査だね。きっと重要な結果が得られるんじゃないかな。 

 

 

（次ページ以降に問１～２が記載されています。） 
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問１． 下線部(a)の調査は国の法律（統計法）に基づき、高校における生徒の健康状態を明らか

にするために高校生の一部を対象に、原則として毎年行われている。その年度の日本の

高校生全体の健康状態を明らかにし、過去の被患率と比較可能な調査とするためには何

をすべきか、論じなさい。 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

（次ページに問２が記載されています。） 
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問２．下線部(b)について、あなたの見解を理由とともに述べなさい。 
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問題４．問題文を読み、以下の問１～４に答えなさい。（100 点） 

 

𝑓ሺ𝑡ሻ， 𝑔ሺ𝑡ሻ  が，ともに周期 T の周期関数であるとき，相互の相関性を解析するための関数 

𝑅ሺ𝜏ሻ を次式のように定義する。ただし，τは二つの関数の時間軸のずれを表す変数である。 

𝑅ሺ𝜏ሻ ൌ lim
்→ஶ

1
𝑇

න 𝑓ሺ𝑡ሻ
்

଴
𝑔ሺ𝑡 ൅ 𝜏ሻ 𝑑𝑡 

 

 

問１．相互相関関数の性質を具体的に説明しなさい。 

 

 

 

 

 

 

問２．𝑓ሺ𝑡ሻ ൌ sin 𝑡 ， 𝑔ሺ𝑡ሻ ൌ cos 𝑡 のとき，𝑅ሺ𝜏ሻを評価しなさい。 

 

 

 

 

 

 

 

 

 

 

 

 

 

（次ページ以降に問３、４が記載されています。） 
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問３．相互相関関数 𝑅ሺ𝜏ሻ のアナログ信号 𝑔ሺ𝑡ሻ を 𝑓ሺ𝑡ሻ に置き換えた関数を自己相関関数と

いう。 

   自己相関関数を用いてわかることを，具体例を考えて説明しなさい。 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

（次ページに問４が記載されています。） 
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問４．以下の表は，二つの都市の一月おきの平均気温を示している。この場合，観測値  𝑓ሺ 𝑖 ሻ ， 

𝑔ሺ 𝑖 ሻ （ 𝑖 ＝１，２，…，６)に対する相互相関関数を次式のように定義する。ただし，

𝑗（ 𝑗 ＝０，１，…，５)は整数の変数であり，𝑓 ，𝑔 はそれぞれ， 𝑓 ௜  ，𝑔 ௜ の平均値であ

る。 

𝑅ሺ 𝑗 ሻ ൌ
1
6

෍ ൫ 𝑓 ௜ െ  𝑓 ൯ ൫ 𝑔௜ା௝ െ  𝑔 ൯

଺

௜ ୀ ଵ

 

相互相関関数を図示しなさい。横軸を変数 𝑗 ，縦軸を 𝑅ሺ 𝑗 ሻ とすること。ずれ量  𝑗 によ

るデータの欠落に対してはデータを循環させて補うこと。また，その結果からわかった

ことを説明しなさい。 

𝑖  １ ２ ３ ４ ５ ６ 

月  １ ３ ５ ７ ９ 11 

Ｆ市( 𝑓 ௜  )  ４ 10 20 25 20 ５ 

Ｇ市( 𝑔 ௜)  20 18 15 10 17 22 

温度〔℃〕 
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問題５．問題文を読み、以下の問１～４に答えなさい。（100 点） 

 

確率変数Xが離散型の分布をし、その分布の確率密度関数𝑓ሺ𝑥ሻが以下の式で与えられるものと

する。 

𝑓ሺ𝑥ሻ ൌ 𝑒ିఒ 𝜆௫

𝑥!
      ሺ𝑥 ൌ 0, 1, 2, … ሻ 

ただし，𝜆は𝜆 ൐ 0を満たす実数とする。 

 

 

問１．∑ 𝑓ሺ𝑥ሻஶ
௫ୀ଴ ൌ 1となることを示しなさい。 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

（次ページ以降に問２～４が記載されています。） 
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問２．𝑋の平均値𝐸ሺ𝑋ሻを求めなさい。 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

問３．𝑋の分散𝑉ሺ𝑋ሻを求めなさい。 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

（次ページに問４が記載されています。） 
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問４． 𝑙𝑖𝑚
௡→ஶ

ቀ
𝑛
𝑥ቁ ൬ ఒ

ｎ
൰

௫
൬1 െ

ఒ

ｎ
൰

௡ି௫
ൌ 𝑓ሺ𝑥ሻとなることを示しなさい。 
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